Academic Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
14010100 - Engineering, G	ieneral										
Non-returner	1	100.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	1
Total	1	100.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	1
24010100 - Liberal Arts an	d Sciences	/Liberal S	tudies								
Non-returner	2	22.2%	4	44.4%	2	22.2%	8	88.9%	1	11.1%	9
Total	2	22.2%	4	44.4%	2	22.2%	8	88.9%	1	11.1%	9
26010100 - Biology/Biolog	ical Scienc	es, Gener	al								
Non-returner	5	17.2%	13	44.8%	6	20.7%	24	82.8%	5	17.2%	29
Total	5	17.2%	13	44.8%	6	20.7%	24	82.8%	5	17.2%	29
99999999 - Undeclared Ma	ijor										
Undeclared	70	34.0%	50	24.3%	50	24.3%	170	82.5%	36	17.5%	206
Total	70	34.0%	50	24.3%	50	24.3%	170	82.5%	36	17.5%	206

Technical Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students			
04090100 - Architectural Technology/Technician														
Graduate	0	0.0%	10	76.9%	1	7.7%	11	84.6%	2	15.4%	13			
Non-returner	8	12.1%	27	40.9%	12	18.2%	47	71.2%	19	28.8%	66			
Total	8	10.1%	37	46.8%	13	16.5%	58	73.4%	21	26.6%	79			
11020100 - Computer Prog	gramming/	Programm	er, Gener	al										
Graduate	0	0.0%	21	65.6%	1	3.1%	22	68.8%	10	31.2%	32			
Non-returner	5	2.8%	116	65.9%	9	5.1%	130	73.9%	46	26.1%	176			
Total	5	2.4%	137	65.9%	10	4.8%	152	73.1%	56	26.9%	208			
11080100 - Web Page, Dig	ital/Multim	edia and li	nformatio	n Resourc	es Design									
Graduate	1	16.7%	3	50.0%	1	16.7%	5	83.3%	1	16.7%	6			
Non-returner	4	6.7%	35	58.3%	2	3.3%	41	68.3%	19	31.7%	60			
Total	5	7.6%	38	57.6%	3	4.5%	46	69.7%	20	30.3%	66			
11090100 - Computer Syst	tems Netw	orking and	l Telecom	municatio	ns									
Non-returner	1	33.3%	1	33.3%	0	0.0%	2	66.7%	1	33.3%	3			
Total	1	33.3%	1	33.3%	0	0.0%	2	66.7%	1	33.3%	3			
11100100 - Network and S	ystem Adr	ministratio	n/Adminis	trator										
Non-returner	0	0.0%	7	87.5%	0	0.0%	7	87.5%	1	12.5%	8			
Total	0	0.0%	7	87.5%	0	0.0%	7	87.5%	1	12.5%	8			
11100200 - System, Netwo	orking, and	LAN/WAN	l Manager	nent/Mana	ger									
Graduate	0	0.0%	2	66.7%	0	0.0%	2	66.7%	1	33.3%	3			
Non-returner	9	5.1%	118	66.3%	7	3.9%	134	75.3%	44	24.7%	178			
Total	9	5.0%	120	66.3%	7	3.9%	136	75.1%	45	24.9%	181			
11100300 - Computer and	Informatio	n Systems	Security	/Auditing/l	nformatio	n Assurar	ice							
Graduate	1	8.3%	8	66.7%	1	8.3%	10	83.3%	2	16.7%	12			
Non-returner	38	8.9%	241	56.2%	43	10.0%	322	75.1%	107	24.9%	429			
Total	39	8.8%	249	56.5%	44	10.0%	332	75.3%	109	24.7%	441			
13150100 - Teacher Assist	tant/Aide													
Graduate	9	20.0%	13	28.9%	18	40.0%	40	88.9%	5	11.1%	45			
Non-returner	11	7.2%	84	54.9%	27	17.6%	122	79.7%	31	20.3%	153			
Total	20	10.1%	97	49.0%	45	22.7%	162	81.8%	36	18.2%	198			
15040100 - Biomedical Ted	chnology/1													
Non-returner	1	100.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	1			
Total	1	100.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	1			
15040400 - Instrumentatio	n Technol	ogy/Techn	ician											
Non-returner	23	32.9%	19	27.1%	22	31.4%	64	91.4%	6	8.6%	70			
Total	23	32.9%	19	27.1%	22	31.4%	64	91.4%	6	8.6%	70			

Technical Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
15040500 - Robotics Tech	nology/Tec	hnician									
Non-returner	4	10.8%	12	32.4%	19	51.4%	35	94.6%	2	5.4%	37
Total	4	10.8%	12	32.4%	19	51.4%	35	94.6%	2	5.4%	37
15050700 - Environmental	echnology	//Technicia	an								
Non-returner	2	33.3%	4	66.7%	0	0.0%	6	100.0%	0	0.0%	6
Total	2	33.3%	4	66.7%	0	0.0%	6	100.0%	0	0.0%	6
15061300 - Manufacturing	Engineerin	g Techno	ology/Tecl	nnician							
Non-returner	15	9.9%	60	39.7%	58	38.4%	133	88.1%	18	11.9%	151
Total	15	9.9%	60	39.7%	58	38.4%	133	88.1%	18	11.9%	151
15070100 - Occupational S	Safety and I	Health Te	chnology/	Technicia (n						
Non-returner	13	35.1%	8	21.6%	13	35.1%	34	91.9%	3	8.1%	37
Total	13	35.1%	8	21.6%	13	35.1%	34	91.9%	3	8.1%	37
15100100 - Construction Engineering Technology/Technician											
Non-returner	11	20.0%	11	20.0%	22	40.0%	44	80.0%	11	20.0%	55
Total	11	20.0%	11	20.0%	22	40.0%	44	80.0%	11	20.0%	55
15130200 - CAD/CADD Dra	afting and/o	r Design	Technolo	gy/Techni	cian						
Non-returner	0	0.0%	1	50.0%	1	50.0%	2	100.0%	0	0.0%	2
Total	0	0.0%	1	50.0%	1	50.0%	2	100.0%	0	0.0%	2
15130300 - Architectural D	rafting and	Archited	tural CAD	/CADD							
Graduate	0	0.0%	7	87.5%	0	0.0%	7	87.5%	1	12.5%	8
Non-returner	2	4.1%	32	65.3%	5	10.2%	39	79.6%	10	20.4%	49
Total	2	3.5%	39	68.4%	5	8.8%	46	80.7%	11	19.3%	57
15130600 - Mechanical Dra	afting and N	/lechanic	al Drafting	CAD/CAI	OD						
Non-returner	0	0.0%	6	40.0%	1	6.7%	7	46.7%	8	53.3%	15
Total	0	0.0%	6	40.0%	1	6.7%	7	46.7%	8	53.3%	15
15170100 - Energy System	ns Technolo	••	nician								
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1
15170300 - Solar Energy T	echnology/		an								
Non-returner	1	8.3%	6	50.0%	4	33.3%	11	91.7%	1	8.3%	12
Total	1	8.3%	6	50.0%	4	33.3%	11	91.7%	1	8.3%	12
41030300 - Chemical Proc	ess Techno	••									
Non-returner	7	17.5%	16	40.0%	12	30.0%	35	87.5%	5	12.5%	40
Total	7	17.5%	16	40.0%	12	30.0%	35	87.5%	5	12.5%	40

Technical Students	Higl Educa and	Additional Employed Higher No Education Additional and Not Higher Employed Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students				
46030100 - Electrical and Power Transmission Installation/Installer, General														
Non-returner	36	23.2%	51	32.9%	60	38.7%	147	94.8%	8	5.2%	155			
Total	36	23.2%	51	32.9%	60	38.7%	147	94.8%	8	5.2%	155			
46030200 - Electrician														
Non-returner	5	7.2%	41	59.4%	13	18.8%	59	85.5%	10	14.5%	69			
Total	5	7.2%	41	59.4%	13	18.8%	59	85.5%	10	14.5%	69			
47060400 - Automobile/Automotive Mechanics Technology/Technician														
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1			
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1			
48050100 - Machine Tool 1	Technology	//Machini	st											
Non-returner	2	50.0%	0	0.0%	1	25.0%	3	75.0%	1	25.0%	4			
Total	2	50.0%	0	0.0%	1	25.0%	3	75.0%	1	25.0%	4			
48050800 - Welding Techn	ology/Wel	der												
Non-returner	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1			
Total	0	0.0%	0	0.0%	1	100.0%	1	100.0%	0	0.0%	1			
49010200 - Airline/Comme	rcial/Profe	ssional P	ilot and Fl	ight Crew										
Non-returner	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1			
Total	0	0.0%	1	100.0%	0	0.0%	1	100.0%	0	0.0%	1			
50040100 - Design and Vis	ual Comm	unication	s, Genera	I										
Graduate	1	9.1%	6	54.5%	0	0.0%	7	63.6%	4	36.4%	11			
Non-returner	8	4.7%	103	60.6%	9	5.3%	120	70.6%	50	29.4%	170			
Total	9	5.0%	109	60.2%	9	5.0%	127	70.2%	54	29.8%	181			
50040900 - Graphic Design	n													
Graduate	0	0.0%	7	63.6%	0	0.0%	7	63.6%	4	36.4%	11			
Non-returner	1	4.0%	18	72.0%	1	4.0%	20	80.0%	5	20.0%	25			
Total	1	2.8%	25	69.4%	1	2.8%	27	75.0%	9	25.0%	36			
51060200 - Dental Hygiene	e/Hygienist													
Non-returner	1	100.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	1			
Total	1	100.0%	0	0.0%	0	0.0%	1	100.0%	0	0.0%	1			
51070700 - Health Informa	tion/Medic	al Record	s Techno	logy/Tech	nician									
Graduate	1	5.9%	6	35.3%	3	17.6%	10	58.8%	7	41.2%	17			
Non-returner	2	3.3%	43	70.5%	4	6.6%	49	80.3%	12	19.7%	61			
Total	3	3.8%	49	62.8%	7	9.0%	59	75.6%	19	24.4%	78			
51090900 - Surgical Techn	ology/Tec	hnologist												
Non-returner	12	26.7%	12	26.7%	15	33.3%	39	86.7%	6	13.3%	45			
Total	12	26.7%	12	26.7%	15	33.3%	39	86.7%	6	13.3%	45			

Technical Students	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students			
51150100 - Substance Abuse/Addiction Counseling														
Graduate	0	0.0%	6	60.0%	0	0.0%	6	60.0%	4	40.0%	10			
Non-returner	1	3.2%	16	51.6%	2	6.5%	19	61.3%	12	38.7%	31			
Total	1	2.4%	22	53.7%	2	4.9%	25	61.0%	16	39.0%	41			
51380100 - Registered Nur Non-returner Total	rsing/Regis 1 1	25.0% 25.0%	se 2 2	50.0% 50.0%	0 0	0.0% 0.0%	3	75.0% 75.0%	1 1	25.0% 25.0%	4 4			
51390100 - Licensed Pract	ical/Vocati	onal Nurs	e Training	l										
Non-returner	2	10.5%	11	57.9%	6	31.6%	19	100.0%	0	0.0%	19			
Total	2	10.5%	11	57.9%	6	31.6%	19	100.0%	0	0.0%	19			
52020400 - Office Management and Supervision														
Graduate	0	0.0%	5	71.4%	0	0.0%	5	71.4%	2	28.6%	7			
Non-returner	17	5.1%	224	67.7%	28	8.5%	269	81.3%	62	18.7%	331			
Total	17	5.0%	229	67.8%	28	8.3%	274	81.1%	64	18.9%	338			

Summary Page	Additional Higher Education and Not Employed		Employed No Additional Higher Education		Additional Higher Education and Employed		Employed and/or Additional Higher Education		Students Not Found		Total Former Students
Total Academic Students											
Non-returner	8	20.5%	17	43.6%	8	20.5%	33	84.6%	6	15.4%	39
Undeclared	70	34.0%	50	24.3%	50	24.3%	170	82.5%	36	17.5%	206
Total	78	31.8%	67	27.3%	58	23.7%	203	82.9%	42	17.1%	245
Total Technical Students											
Graduate	13	7.4%	94	53.7%	25	14.3%	132	75.4%	43	24.6%	175
Non-returner	243	9.9%	1,328	53.8%	397	16.1%	1,968	79.8%	499	20.2%	2,467
Total	256	9.7%	1,422	53.8%	422	16.0%	2,100	79.5%	542	20.5%	2,642
Total Technical/Tech-Prep	Students										
Graduate	13	7.4%	94	53.7%	25	14.3%	132	75.4%	43	24.6%	175
Non-returner	243	9.9%	1,328	53.8%	397	16.1%	1,968	79.8%	499	20.2%	2,467
Total	256	9.7%	1,422	53.8%	422	16.0%	2,100	79.5%	542	20.5%	2,642
Grand Total											
Graduate	13	7.4%	94	53.7%	25	14.3%	132	75.4%	43	24.6%	175
Non-returner	251	10.0%	1,345	53.7%	405	16.2%	2,001	79.8%	505	20.2%	2,506
Undeclared	70	34.0%	50	24.3%	50	24.3%	170	82.5%	36	17.5%	206
Total	334	11.6%	1,489	51.6%	480	16.6%	2,303	79.8%	584	20.2%	2,887